

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter Social Security numbers on this form as it may be made public.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service Information about Form 990-PF and its separate instructions is at www.irs.gov/form990of. For calendar year 2013 or tax year beginning and ending A Employer identification number Name of foundation THE MARY HILEM TAYLOR FOUNDATION 65-6191958 Number and street (or P O box number if mail is not delivered to street address) Room/suite B Telephone number C/O 675 3RD AVE. - E. HOROWITZ & CO. 23 FL 212-972-7500 City or town, state or province, country, and ZIP or foreign postal code C if exemption application is pending, check here NEW YORK, NY 10017 G Check all that apply: Initial return Initial return of a former public charity D 1. Foreign organizations, check here Final return Amended return Foreign organizations meeting the 85% test, check here and attach computation Address change Name change H Check type of organization: X Section 501(c)(3) exempt private foundation E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here X Cash I Fair market value of all assets at end of year | J Accounting method: F If the foundation is in a 60-month termination Other (specify) (from Part II, col. (c), line 16) under section 507(b)(1)(B), check here 3,656,694. (Part I, column (d) must be on cash basis.) ▶\$ Part | Analysis of Revenue and Expenses (d) Disbursements for charitable purposes (cash basis only) (c) Adjusted net (a) Revenue and (b) Net investment (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)) expenses per books псоте income N/A 0. Contributions, gifts, grants, etc., received 2 Check \(\bigcap \) If the foundation is not required to attach Sch B Interest on savings and temporary cash investments 89,147. 79,520. STATEMENT 4 Dividends and interest from securities 5a Gross rents b Net rental income or (loss) 62,923 6a Net gain or (loss) from sale of assets not on line 10 b Gross sales price for all assets on line 6a 3,803,405. 62,923 7 Capital gain net income (from Part IV, line 2) 8 Net short-term capital gain 9 Income modifications 10a Gross sales less returns and allowances b Less Cost of goods sold c Gross profit or (loss) 11 Other income 152,070. 142,443 12 Total. Add lines 1 through 11 13 Compensation of officers, directors, trustees, etc 14 Other employee salaries and wages 15 Pension plans, employee benefits 16a Legal fees 7,000. 6,300. STMT 2 **b** Accounting fees c Other professional fees OCIDEN. 17 Interest STMT 3 3,646 3-646 0. 18 Taxes 19 Depreciation and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications STMT 4 22,998. 22,998 0. 23 Other expenses 24 Total operating and administrative 6,300. 33,644. 27,344 expenses. Add lines 13 through 23 59,850. 59,850. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. 93,494 27,344 66,150. Add lines 24 and 25 27 Subtract line 26 from line 12: 58,576 2 Excess of revenue over expenses and disbursements 115,099 b Net investment income (if negative, enter -0-) N/A C Adjusted net income (if negative, enter -0-)

Form **990-PF** (2013)

LHA For Paperwork Reduction Act Notice, see instructions.

323511 10-10-13

Part IV Capital Gains a	ind Losses for Ta	x on Investment	Income					
(a) List and descr 2-story brick wai	be the kind(s) of property ehouse; or common stock	sold (e.g., real estate, c, 200 shs. MLC Co.)		`P-	w acquired Purchase Donation		acquired ay, yr.)	(d) Date sold (mo., day, yr.)
1a								
b SEE ATTACHED	STATEMENT							
d								
e				<u> </u>				<u> </u>
(e) Gross sales price	(f) Depreciation allow (or allowable)	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	st or other basis expense of sale				aın or (loss s (f) minus	
a								
<u>b</u>						-		
C								
d 3,803,405.			3,740,48	2.				62,923.
e 3,803,405.	oain in column (h) and o					I) Gains (C	ol. (h) gain	
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Ex	cess of col. (i)			l. (k), but r	not less that (from col. (n -0-) o r
a	4007 (20 770		()),)	-				
b				\dashv				
C				\neg				
d								
e								62,923.
2 Capital gain net income or (net cap	ortal loss) If gain, a	also enter in Part I, line , enter -0- in Part I, line	7 7	}	2			62,923.
3 Net short-term capital gain or (loss	•			7				
If gain, also enter in Part I, line 8, o		ezz(o) una (o).] [
If (loss), enter -0- in Part I, line 8 Part V Qualification Ui	nder Section 4940			1	3		N/A	
(For optional use by domestic private If section 4940(d)(2) applies, leave th Was the foundation liable for the sect If "Yes," the foundation does not quali	is part blank. on 4942 tax on the distrib fy under section 4940(e).	utable amount of any ye Do not complete this pa	ear in the base per rt.	ıod?				Yes X No
Enter the appropriate amount in e	ach column for each year;		fore making any ei			<u> </u>		(d)
(a) Base period years Calendar year (or tax year beginnin	g in) Adjusted qual	(b) Ifying distributions	Net value of no				Distrit (col. (b) div	oùtión ratio vided by col. (c))
<u>20</u> 12		50,350.		3,	374,000	_	_	.014923
2011		40,600. 50,869.			874,620 20,320			.046420 2.503396
2010		23,500.			17,99		 	1.305846
2009		63,681.		_	61,11			1.041986
2000	· · · · · · · · · · · · · · · · · · ·	03,0020		_	02,22			
2 Total of line 1, column (d)3 Average distribution ratio for the 5	-year base period - divide	the total on line 2 by 5,	or by the number	of year	s	2		4.912571
the foundation has been in existen	-	, -,	-	•		3		.982514
4 Enter the net value of noncharitable	e-use assets for 2013 fror	n Part X, line 5				4		3,394,727.
5 Multiply line 4 by line 3						5		3,335,367.
6 Enter 1% of net investment incom	e (1% of Part I, line 27b)					6		1,151.
7 Add lines 5 and 6						7		3,336,518.
8 Enter qualifying distributions from	Part XII, line 4					8		66,150.
If line 8 is equal to or greater than See the Part VI instructions.		urt VI, line 1b, and comp	elete that part using	g a 1%	tax rate.	<u></u>	•	
323521 10-10-13				-				Form 990-PF (2013)

19131111 791240 220935

form 990-PF (2013) THE MARY HILEM TAYLOR FOUNDATION 65-61	91958	Page 4
Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - se	<u>e instru</u>	ctions)
1a Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.		
Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)		
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1%		2,302.
of Part I, line 27b		
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).		_
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	·	0.
3 Add lines 1 and 2		2,302.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		2,302.
6 Credits/Payments:		
a 2013 estimated tax payments and 2012 overpayment credited to 2013 6a 1,400.		
b Exempt foreign organizations - tax withheld at source		
c Tax paid with application for extension of time to file (Form 8868)		
d Backup withholding erroneously withheld		1 400
7 Total credits and payments. Add lines 6a through 6d		1,400.
8 Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is attached		916.
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		910.
10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		
11 Enter the amount of line 10 to be: Credited to 2014 estimated tax ▶ Refunded ▶ 11 Part VII-A Statements Regarding Activities		
		Yes No
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in	1a	X
any political campaign? b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?	1b	X
	10	- 11
If the answer is "Yes" to _{1a} or _{1b} , attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities		
c Did the foundation file Form 1120-POL for this year?	1c	x
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	 '' 	
(1) On the foundation. > \$ 0 • (2) On foundation managers. > \$ 0 •		1
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation		
managers. > \$ 0.		
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	X
If "Yes," attach a detailed description of the activities	-	
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or		
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	X
4a Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a	X
b If "Yes," has it filed a tax return on Form 990-T for this year? N/A	4b	
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	X
If "Yes," attach the statement required by General Instruction T.		
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		í
By language in the governing instrument, or		
By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law		
remain in the governing instrument?	6	Х
7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	X
8a Enter the states to which the foundation reports or with which it is registered (see instructions) NONE	_	
	_	
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)		
of each state as required by General Instruction G? If "No," attach explanation SEE STATEMENT 7	8b	<u> </u>
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar		
year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," complete Part XIV	9	X
10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10	PF (2013)

10-10-13

Form **990-PF** (2013)

Form 990-PF (2013) THE MARY HILEM TAYLOR FO			65-61919	58 Page 6
Part VII-B Statements Regarding Activities for Which I	orm 4720 May Be F	Required (contin	ued)	
5a During the year did the foundation pay or incur any amount to:				
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	1 4945(e))?	Ye	s X No	1 1
(2) Influence the outcome of any specific public election (see section 4955); o	r to carry on, directly or indire	ectly,		
any voter registration drive?		Ye	s X No	1 1
(3) Provide a grant to an individual for travel, study, or other similar purposes	?	Ye	es 🗓 No	
(4) Provide a grant to an organization other than a charitable, etc., organization	described in section			
509(a)(1), (2), or (3), or section 4940(d)(2)?		. 🗀 Ye	es X No	
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, or f	or		1 1
the prevention of cruelty to children or animals?		Y6	s X No	
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify unc	ler the exceptions described i	n Regulations		
section 53.4945 or in a current notice regarding disaster assistance (see instru	ctions)?		N/A	5b
Organizations relying on a current notice regarding disaster assistance check h	ere			
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr		ned		
expenditure responsibility for the grant?	N	// A 🔲 Ye	s 🔲 No	
If "Yes," attach the statement required by Regulations section 53.4945	5-5(d)			
6a Did the foundation, during the year, receive any funds, directly or indirectly, to	pay premiums on			
a personal benefit contract?		Ye	s X No	
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?			6b X
If "Yes" to 6b, file Form 8870.			Г	
7a At any time during the tax year, was the foundation a party to a prohibited tax s	helter transaction?	Ye	s 🗶 No	
b If "Yes," did the foundation receive any proceeds or have any net income attribu	table to the transaction?		N/A	7b
Part VIII Information About Officers, Directors, Trusto	ees, Foundation Ma	nagers, Highly	<u> </u>	
Paid Employees, and Contractors				
1 List all officers, directors, trustees, foundation managers and their				
(a) Name and address	(b) Title, and average hours per week devoted	(c) Compensation (If not paid,	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other
	to position	enter -0-)	and deferred compensation	allowances
	TRUSTEE			
784 PARK AVUNUE #10A				
NEW YORK, NY 10021	6.00	0.	0.	0.
		j ,	i	
	<u>. </u>			
2 Compensation of five highest-paid employees (other than those inc		enter "NONE."	(d) Contributions to	(a) Evpense
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week	(c) Compensation	employee benefit plans and deferred	(e) Expense account, other
	devoted to position		compensation	allowances
NONE				
	<u> </u>			
		L		
Total number of other employees paid over \$50,000			<u> </u>	000 PE (2012)
			Form	990-PF (2013)

Form 990-PF (2013) THE MARY HILEM TAYLOR FOUNDATION	65-63	191958	Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Paid Employees, and Contractors (continued)			
3 Five highest-paid independent contractors for professional services. If none, enter "NC	NE."		
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Comp	ensation
NONE			
			
		- 	
Total number of others receiving over \$50,000 for professional services		•	0
Part IX-A Summary of Direct Charitable Activities	-		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical in	formation such as the	Evpanosa	
number of organizations and other beneficiaries served, conferences convened, research papers produced,	etc.	Expenses	
1_ N/A			
2			
			
3			
3			
4			
		•	
Part IX-B Summary of Program-Related Investments			
Describe the two largest program-related investments made by the foundation during the tax year on lines	and 2.	Amount	
1N/A			
			
2			
			
All other program-related investments. See instructions.			
3			
Total Add lines 1 through 3			0.

Form **990-PF** (2013)

For	m 990-PF (2013) THE MARY HILEM TAYLOR FOUNDATION	65-6191958	Page 8
Ρ	Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations, see instructions.)	
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
	Average monthly fair market value of securities	1a 3,012 1b 433	,805.
	Average of monthly cash balances	1b 433	,618.
	Fair market value of all other assets	1c	
	Total (add lines 1a, b, and c)	1d 3,446	<u>,423.</u>
	Reduction claimed for blockage or other factors reported on lines 1a and		
Ĭ	1c (attach detailed explanation) 1e 0 •		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3 3,446	<u>,423.</u>
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4 51	,696.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5 3,394	,727.
6	Minimum investment return. Enter 5% of line 5	6 169	,736.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations an	d certain	
	foreign organizations check here and do not complete this part.)		
1	Minimum investment return from Part X, line 6	1 169	736.
2a	Tax on investment income for 2013 from Part VI, line 5 2, 302.		
b	Income tax for 2013. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c 2	,302.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3 167	,434.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5 167	,434.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7 167	,434.
P	art XII Qualifying Distributions (see instructions)		-
	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a 66	<u>,150.</u>
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4 66	,150.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		_
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6 66	,150.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	qualifies for the section	
	4940(e) reduction of tax in those years		

Form **990-PF** (2013)

Page 9

, Part XIII Undistributed Income (see instructions)

THE MARY HILEM TAYLOR FOUNDATION

	(a)	(b) Years prior to 2012	(c) 2012	(d) 2013
4 Distributed and state 2040 from Dad VI	Corpus	rears prior to 2012	2012	2013
1 Distributable amount for 2013 from Part XI,				167,434.
line 7 2 Undistributed income, if any, as of the end of 2013				107,134.
a Enter amount for 2012 only			0.	
b Total for prior years:				
g rounter prior yours.		0.		
3 Excess distributions carryover, if any, to 2013:				
a From 2008 41,460. b From 2009 22,600.				
c From 2010 49,853.				
d From 2011				
e From 2012				
f Total of lines 3a through e	113,913.			
4 Qualifying distributions for 2013 from				
Part XII, line 4: ►\$ 66,150.				
a Applied to 2012, but not more than line 2a			0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			
d Applied to 2013 distributable amount				66,150.
e Remaining amount distributed out of corpus	0.			
5 Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a))	101,284.			101,284.
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	12,629.			
b Prior years' undistributed income. Subtract	<u>,, , </u>			
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of deficiency has been issued, or on which				
the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable		•		
amount - see instructions		0.		<u> </u>
e Undistributed income for 2012. Subtract line			0	
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2013. Subtract				
lines 4d and 5 from line 1. This amount must	l			0.
be distributed in 2014				- 0 •
7 Amounts treated as distributions out of			!	
corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2008				
not applied on line 5 or line 7	0.	;		
9 Excess distributions carryover to 2014.			·	
Subtract lines 7 and 8 from line 6a	12,629.			
10 Analysis of line 9:				
a Excess from 2009				
b Excess from 2010 12,629.			1	
c Excess from 2011				
dExcess from 2012				
e Excess from 2013				
				Form 990-PF (2013)

323581 10-10-13

Part XV Supplementary Information	(continued)			
3 Grants and Contributions Paid During the Y		Payment		-
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
a Paid during the year				
RONALD MCDONALD HOUSE 405 E 73RD ST	N/A	PUBLIC CHARITY	GENERAL CONTRIBUTION	
NEW YORK, NY 10021				7,500.
ALZ DRUG DISCOVERY FOUNDATION	N/A	PUBLIC CHARITY	GENERAL CONTRIBUTION	
57 W 57TH ST #904				
NEW YORK, NY 10019				1,500.
BOB WOODRUFF FOUNDATION 1359 BROADWAY, SUITE 800	N/A	PUBLIC CHARITY	GENERAL CONTRIBUTION	
NEW YORK, NY 10018				30,000.
HEARST CASTLE PRESERVATION FOUNDATION 750 HEARST CASTLE RD SAN SIMEON, CA 93452	N/A	PUBLIC CHARITY	GENERAL CONTRIBUTION	1,500.
MUSEUM OF THE CITY OF NEW YORK 1220 5TH AVE NEW YORK, NY 10029	N/A		GENERAL CONTRIBUTION	350.
	NTINUATION SHEE	T(S)	▶ 3a	59,850.
b Approved for future payment NONE				
		:	▶ 3b	0.
	· · · · · · · · · · · · · · · · · · ·		- 00	

65-6191958 Page 12

Part XVI-A Analysis	of Income-Producing Activities
---------------------	--------------------------------

Enter gross amounts unless otherwise indicated.	Unirelate	u ousiness income		by section 512, 513, or 514	(e)
1 Program service revenue:	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income
8	_				
b	_ }				
<u> </u>	_		+		
d	_		-		
e	_		 		
1	_				
g Fees and contracts from government agencies	<u> </u>				
2 Membership dues and assessments					
3 Interest on savings and temporary cash			1 1		
investments			1 1 1	00 147	
4 Dividends and interest from securities			14	89,147.	
5 Net rental income or (loss) from real estate:			——		
a Debt-financed property			+		
b Not debt-financed property			+		
6 Net rental income or (loss) from personal					
property			+		
7 Other investment income			\bot		
8 Gain or (loss) from sales of assets other				60.000	
than inventory			18	62,923.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					<u> </u>
11 Other revenue:			1 1		
a	_				180
b	_	<u></u>	4		
C	_				
d	_		+		
e	_			150 070	
12 Subtotal. Add columns (b), (d), and (e)		0	•	152,070.	152.070
13 Total. Add line 12, columns (b), (d), and (e)				13	152,070
(See worksheet in line 13 instructions to verify calculations	.)				
Part XVI-B Relationship of Activitie Line No. Explain below how each activity for which is the foundation's exempt purposes (other the state of the	ncome is reported i	n column (e) of Part XVI-		<u> </u>	plishment of
N/A					
					
			-		
				<u> </u>	
					
				<u></u>	
		<u>-</u>			
 					
323621 10-10-13					Form 990-PF (2013

Part XVII	Information Re Exempt Organ		and Transactions ar	nd Relationships With Noncha	ritable	3-
1 Did the or		rectly engage in any of the follow	ing with any other organization	described in section 501(c) of	Yes	No
the Code	(other than section 501(c)(3) organizations) or in section 5	27, relating to political organiz	ations?		
a Transfers	from the reporting found	ation to a noncharitable exempt o	rganization of:			
(1) Cash	<u>.</u>	•			1a(1)	X
(2) Other	r assets				1a(2)	Х
b Other tran	isactions:					١
• •	of assets to a noncharita	, ,	•	-	1b(1)	X
• •		ncharitable exempt organization		•	1b(2)	X
` ,	al of facilities, equipment,				1b(3)	X
* *	bursement arrangements				1b(4)	X
	s or loan guarantees				1b(5)	X
= =		mbership or fundraising solicitat			1b(6)	X
_		iling lists, other assets, or paid ei	· -	ays show the fair market value of the goods,		
or service	es given by the reporting f		ved less than fair market value	in any transaction or sharing arrangement,		
(a)Line no	(b) Amount involved	(c) Name of noncharitab		(d) Description of transfers, transactions, and	sharing arrangeme	ents
(-)	(2)/	N/A		(-,		
ın section	501(c) of the Code (othe	tly affiliated with, or related to, on r than section 501(c)(3)) or in se		ations described	Yes X	☐ No
u ii res, c	omplete the following sch (a) Name of org		(b) Type of organization	(c) Description of relations	ship	
	N/A		(3) (3) - 3 (gamaanan	(-, 255, 25	·	
			+		 	
			+			
			1			
			 	· · · · · · · · · · · · · · · · · · ·		
Here	r penalues of perjury, judgelare elief it is true, correct, and cor mature of officer or trustee	I MID.	fing accompanying schedules and si ian taxpayer) is based on all informa Date	ret sh	ay the IHS discuss urn with the prepai own below (see ins X Yes	rer
	Print/Type preparer's ny	me Preparer's	signature	Date Check if PTIN		
([_ / // // // /	, // ,	self- employed		
Paid ^{\(\)}	ELLIOT HOR	OWITZ ELL.	1 HADINA 1	11/12/14 PO	0185039)
Preparer		IOT HOROWITZ &	COMPANY, LLP	Firm's EIN ▶ 13-3		
Use Only		/	,	[
-	Firm's address ▶ 67	5 THIRD AVENUE				
	NE	W YORK, NY 100	17	Phone no. 212-9	72-7500)
	·				orm 990-PF	

	dases for tax on investment income		I/b) How acquire	II (a) Data assumed	(d) Data and
(a) List and	d describe the kind(s) of property so irick warehouse; or common stock, 2	id, e.g., real estate, 200 shs. MLC Co.	P - Purchase D - Donation	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
•	30394, SEE ATTAC		P		12/31/13
b BERNSTEIN #888		CHED SCHEDULEFIDE		01/01/13	
c BERNSTEIN #888					12/31/13
	3-7405, SEE ATTAC				05/10/13
e CAPITAL GAINS				100, 20, 20	00,00,00
f					
g					
<u>h</u>		-			<u> </u>
<u> </u>					<u> </u>
1				1	
k					
1	· · · · · · · · · · · · · · · · · · ·				
m					
п					
0					
(e) Gross sales price	(f) Depreciation allowed	(g) Cost or other basis		h) Gain or (loss)	·
	(or allowable)	plus expense of sale	(e)	plus (f) minus (g)	1 000
a 557,839.		556,789.			1,050.
b 1,746,863.		1,769,335.			<22,472.
c 1,488,335.		1,414,358.		_	73,977.
d 14.					14.
e 10,354.					10,354.
<u>f</u>					
9				· · · · · · · · · · · · · · · · · · ·	
<u>h</u>					
1			· · · · · · · · · · · · · · · · · · ·		
1					
<u>k</u>				· · · · · · · · · · · · · · · · · · ·	
		-			
<u>m</u>		_			
<u>n</u> o					
	ing gain in column (h) and owned by	the foundation on 12/31/69	(1) 1 (sses (from col. (h))	
Complete only for assets shown	(j) Adjusted basis	(k) Excess of col. (i)	Gains (excess	of col. (h) gain ove	
(i) F.M.V. as of 12/31/69	as of 12/31/69	over col. (j), if any	` but	not less than "-0-")	, ,,
a	 				1,050.
b	 				<22,472.
<u>c</u>	<u> </u>				73,977.
d	1				14.
e	†				10,354.
ſ	1				_
g	1				
h	1				
i					
j					
k					
m					
n					
0					
	. If goin, also ente	r in Part I line 7			
2 Capital gain net income or (net c	apital loss) { if (loss), enter "-	r in Part I, line 7 0-" in Part I, line 7 }	2		62,923.
3 Net short-term capital gain or (lo	oss) as defined in sections 1222(5) ai	_			
If gain, also enter in Part I, line 8	, column (c).	· · ·		-	
If (loss), enter "-0-" in Part I, line		J	3	N/A	

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient Purpose of grant or contribution Foundation show any relationship to Amount status of any foundation manager Name and address (home or business) recipient or substantial contributor GABRIELLE'S ANGEL FOUNDATION N/A PUBLIC CHARITY GENERAL CONTRIBUTION 225 W 34TH ST #1704 NEW YORK, NY 10122 15,000. N/A PUBLIC CHARITY GENERAL CONTRIBUTION CITY MEALS ON WHEELS 355 LEXINGTON AVENUE NEW YORK, NY 10017 2,500. LIGHTHOUSE INTERNATIONAL N/A GENERAL CONTRIBUTION 111 E 59TH ST 1,500. NEW YORK, NY 10022 19,000. Total from continuation sheets

FORM 990-PF	DIVIDENDS	AND INTER	EST FROM SECUE	RITIES ST	PATEMENT	1
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDEND	REVENUE	(B) NET INVEST- MENT INCOME	(C) ADJUSTE NET INCO	
BERNSTEIN #888-74058 FIDELITY#663-13039	87,782.	10,35	4. 77,428.	69,801.		
	9,427.		0. 9,427.	7,427.		
FIDELITY#663-13039	2,292.		0. 2,292.	2,292.		
TO PART I, LINE 4	99,501.	10,35	89,147.	79,520.		_
FORM 990-PF		ACCOUNTI	NG FEES	S	PATEMENT	
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
ACCOUNTING FEES		7,000.	700.		6,30	10.
TO FORM 990-PF, PG 1	L, LN 16B	7,000.	700.		6,30	0.
FORM 990-PF		ТАХ	ES	Si	PATEMENT	3
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
FEDERAL TAX		2,808.				0.
FOREIGN TAX		838.	838.			0.

The Mary Hilem Taylor Foundation 12/31/2013

	CAP GAIN			GROSS
	DIST	ST	LT	PROCEEDS
Bernstein #888-74058	10,354	(22,471) 118,003	118,003	3,235,212
Bernstein #888-74058		14		10,354
Amortization on the bond discount By Prior Accountant:				
\$40M Florida St Broward CNTY 10%			(6,940)	
\$100M Jamestown NYC Sch Dist 3.875%			(9,782)	
\$150M southold ny go 4%			(12,770)	
\$150M suffolk cnty ny go 4%			(14,534)	
Fidelity#663-130394 Per 1099		1,049		557,839
TOTAL	10,354	(21,408)	73,977	3,803,405
	В	B	B	
	Sum of B	62,923		

Ξ

[2]

62,923

Form 990PF Part I Line 7(b)



2013 TAX REPORTING STATEMENT MARY HILEM TAYLOR FOUNDATION Account No. 663-130394 Customer Service: 610-545-6100 Recipient ID No. 65-6191958 Payer's Fed ID Number: 04-3523567

FORM 1099-B* The Control of Proceeds from Broker and Barter Exchange Transactions with the proceeds from Broker and Barter Exchange Transactions with the proceeds from Broker and Barter Exchange Transactions with the proceeds from the proceed from the proceeds from the proceeds from the procedure from the procedu

Short-term transactions for which basis is reported to the IRS -report on Form 8949 with Box A checked and/or Schedule D, Part I (This Label is a Substitute for Boxes 1c & 6)

(IRS Form 1099-B box numbers are shown below in bold type)

8 Descrip	tion, 1d Stock or	8 Description, 1d Stock or Other Symbol, CUSIP	JSIP							
Action	1a Date of Sale or Exchange	1b Date of Acquisition	1e Quantity Sold	2a Sales Price of Stocks, Bonds, etc (a)	3 Cost or Other Basis (b)	Gain/Loss (-)	5 Wash Sale Loss Disallowed	4 Federal Income Tax Withheld	13 State	15 State Tax Withheld
AQR MAN Sale	VAGED FUTURE 03/20/13	AQR MANAGED FUTURES FUND CL I, AQMIX, 00203H859 Sale 03/20/13 various 10,824.52	2MIX, 00203H859 10,824.525	109,942.17	100,838.01	9.104.16				
DOUBLE! Sale	LINE TOTAL RE 03/20/13	TURN BOND FD (DOUBLELINE TOTAL RETURN BOND FD CL I, DBLTX, 258620103 Sale 03/20/13 various 19,784.951	224,722.04	225,370.20	-648.16				
PIMCO To	OTAL RETURN 03/20/13	PIMCO TOTAL RETURN INSTL, PTTRX, 693390700 Sale 03/20/13 vanous 1	93390700 19,893.893	223,174.48	230,581,21	-7,406 73			! ! ! !	· · · · · · · · · · · · · · · · · · ·
TOTALS		Box Box	Box A Short-Term Realized Box A Short-Term Realized Box A Wash Sale Loss Disa	557,838.69 Gain Loss Illowed	556,789.42	9,104.16	0.00	0.00		

For any transaction listed on Form 1099-B in a section Indicating that "basis is reported to the IRS", we are reporting to the IRS: 1c type of gain or loss (i.e. short-term or long-term), 6 basis reported to IRS; 8 Description, 1d Stock or other symbol, the CUSIP number, and columns 1a, 1b, 1e, 2a and 2b, 3, 4, 5, 13, 14 and 15. We are not reporting to the IRS; the Action, the Gain / Loss, and all subtotals and totals For any transaction listed on Form 1099-B in a section indicating that "basis is not reported to the IRS", we are reporting to the IRS: 6 Noncovered security 8 Description, 1d Stock or other symbol, the CUSIP number, and columns 1a, 1e, 2a and 2b, 4, 13, 14 and 15. We are not reporting to the IRS: 1c type of gain or loss (i.e. short-term or long-term), the Action, the Gain / Loss, columns 1b, 3, 5, and all subtotals and totals.

Atthough Fidelity makes every effort to provide accurate information, please bear in mind that you, the taxpayer, are ultimately responsible for the accuracy of your tax returns.

- (a) Gross proceeds less commissions
- (b) Cost or other basis provided may include adjustments including, but not ilmited to, dividend reinvestment, return of capital/principal, wash sale loss disallowed, amortization, accretion, acquisition premium, premium, market discount, market premium, and option premium.

Amortization, accretion, and similar adjustments to cost basis are not provided for short-term instruments, unit investment trusts, or securities of foreign issuers.

* This is important tax information and is being furnished to the internal Revenue Service. If you are required to file a return, a negligence penalty or other sanction may be imposed on you if this income is taxable and the IRS determines that it has not been reported.



Capital Gains Report MARY HILEM TAYLOR FOUNDATION	Report	MOI	(Account: 888-74058)			January 1, 201	3 through December	nber 31, 2013
Open Date Close	Date	Quantity	Description	Sale Price	Unit Cost	Total Proceeds	Total Cost	Gain or Loss
SHORT-TERM NON-COV	ERED				! 			
4/08/2013 05/	3/2	12	ST BRANDS IN	9.7	2.9	2 9	4 . 8	38.1
4/08/2013 05/	3/2016/201	8 2	BRANDS INC	. 4 . 4	ۍ د م	259 4	118 8	7 6
4/08/2013 05/	9/201	09	IBCO SOFTWARE INC	9 0	. 6	253 3	155 7	2 C C C
/2013 0	3/201	30	**EATON CORP PLC	64 33	60.09	1.929.80	1.802.69	97.00
4/08/2013 05/	3/201	7.5	NTUIT INC	9 2	4	,440 7	799.8	0.6
4/11/2013 05/	3/201	15	NTUIT INC	9.2	8	888 1	973 4	-85.2
4/08/2013 05/	3/201	10	HILIP MORRIS	4.4	3.9	941.3	939.8	1.5
4/08/2013 05/	4 / 201	90 25	CHRIA GROUP IN	ი ი ა	 - o	325 1	588	e c
4/08/2013 05/	4/201	30	CHLUMBERGER LI NITEDHEALTH GR		ս 10	856.1	846 4	າ ແ - ຫ
4/08/2013 05/	5/201	50	ROGER CO	5 1	9	759 6	5 965	63 1
4/08/2013 05/	5/201	135	S BANCO	4 2	3.4	,621 0	,510 8	0
4/11/2013 05/	5/201	25	S BANCORP	4 4	4 ა	855 7	858 9	د. د د
4/08/2013 05/	7/201	2 6	TSUN FUUDS	0 60	٥ رو د د	0 667	55.4	۲.
4/08/2013 05/	7/201	55	EDTRONIC INC	49 5	9 . 0	725.1	46.6	78.4
4/08/2013 05/	7/201	2	RECISION CASTPA	2 0	2 7	0 090'	913 5	6 5
4/08/2013 05/	7/201	2	M SMUCKER CO/THE	02.2	6	,045.8	,959 4	86 4
4/08/2013 05/	2/201	180	ICRON TECHNOLOGY INC	~ .	ი ი	,017 6	,675 6	200
4/08/2013 05/	4 / 20 1	. <u>.</u>	ATTONAL - OTIWELL	o a	- -	8 8 8 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9	707	יים מע
4/08/2013 06/	6/201	30	LTRIA GROUP INC	9.0	טיט ב	069 4	052 9	. 6
4/08/2013 06/	6/201	50	ROGER CO	3.0	1	,651.8	,596.5	5.3
4/08/2013 06/	2/2013	96	B BOND	0 8	4	,675 0	135 4	0
04/08/2013 06/1	272013	~	LASS 1	9	a	22 245 00	7	0
100 6107/00/4	6107/7	5 4	LLIANCEBERNSIET LOBAL BOND		Þ	0 612,6	0	997.99
4/08/2013 06/1	2/2	2	DEXX LABS COR	5 5	4	,137 9	,260.8	22.9
013 06/1	2/2013 2	5	VERLAY B P	10 99	11 09	310,490 00	313,315 20	825
4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4		4 4	LASS 1	,	•	0	,	
04/08/2013 06/1	5/50/3	869	DERNOSEIN INTERMEDIALE DURATION PORTFOLIO	13 69	4 08	725,760.00	232,191 44	-6,431.44
4/08/2013 06/1	3/201	50	AFEWAY INC	5.1	5.1	,511.3	,518.5	7.1
4/08/2013 06/1	7/201	25	5 NETWORKS IN	4	9.	862 0	14.9	7.1
05/17/2013 06/1	7/2013	_	5 NETWORKS INC	74.48	82 91			- 84
4/08/2013 07/0	8/2013	4,072	LLIANCEBERNST	ო.	9.	25 0	91	6.1
0,70 610619018	0 / 204	N C	LUBAL BUND	,	•	4	400	1
04/08/2013 07/0	8/2013 3	4 —	VERLAY B PORTFO	10.93	11.09	346.675.00	351 749 84	79.70
		74	LASS 1					
04/08/2013 07/0	8/2013 2	7,024	BERNSTEIN INTERMEDIATE	13.39	14.08	361,855.00	380,501.75	-18,646.75
1/08/2013 07/1	6/201	~ ~	UKALION PUKIFULI TSEBV INC	•	4	734 6	9 4 4	7
	6/2013	30	ISERV	91.16	89 60	2,734 66	2.688 01	46 65
6/13/2013 07/1	6/201	20	ISERV IN	-	7.3	,823 1	,747 5	5.5
-								

Open Date Close Date	Quantity Description	Sale Unit Price Cost	Total Proceeds	Total Cost	Gain or Loss
4/08/2013 07/18/201	S GENEDAL ELECTRIC	3 48 22 0	7	0.40	
107/01/10 01/07/10/14	OU OFFICE CLEVINIC C	2 40 62 8	440		_ ი
4/11/2013 07/16/201	5 GENERAL ELECTRIC C	3.48 23 7	21.8	29.5	7.6
6/13/2013 07/16/201	S GENERAL FIELTRIC	2 4 R 23 A	201 5	201 6	
4.00,007,007,007	VEDTEV DUADRACEITTCALC TO	2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	- 6	- 4	
4/00/2013 0//22/201	Z VERIEA FRAKRACEULICA	0 70 01.0	909.	04-	4
7/09/2013 07/22/201	3 VERIEX PHARMACEULICALS IN	8.15 79.8	264 4	239.3	25 0
/08/2013 07/25/20	O HARLEY DAVIDSON	56 49 51 28	, 259	,051 0	8.7
4/08/2013 07/29/201	56 OVERLAY A PORTFOLI	1.67 11.1	0	9,571 55	428.45
	98 CLASS 1				
04/08/2013 07/29/2013	180 OVERLAY B PORTFOLIO 668 CLASS 1	11.07 11 09	2,000 00	2,003 61	-3 61
04/08/2013 07/29/2013	31 REPNSTET	15 05 14 46	0000	7 686 37	212 63
100150100115011	61 PORTEOLIA	-		000	2
04/08/2013 07/31/2013	4 OVERLAY	11 68 11 17	46.85	44 80	20.0
	1 CLASS 1		•		•
04/08/2013 07/31/2013	27 BERNSTEIN INTERME	13.49 14.08	376 54	393 02	- 16 48
	DURATION PORTFOLIO))))	•
1/08/2013 08/06/201	A A D D I E T N C	1 301 77 1	0 000	1 20 7	,
4/08/2013 08/08/201	1 FOC PECOLIPIE	- 07 + 17 + 10 + 12 + 12 + 12 + 12 + 12 + 12 + 12	7 2 4 6 7	- c	
4/06/2013 06/06/201	I EUG KESUUKCES IN	0.021 00.70	4 407,	, 392.0	342 4
5/01/2013 08/09/201	25 ALLEKGAN INC	1 47 99 5	, 286 8	,488 5	01
4/08/2013 08/09/201	O APPLIED MATERIALS IN	5.65 13 1	,755 4	,1592	96 2
4/11/2013 08/09/201	O APPLIED MATERIALS IN	65 13.8	38.8	828 0	108
6/13/2013 08/09/201	O APPLIED MATERIA	65 15 4	,095.3	,083 9	11 4
7/09/2013 08/09/201	O APPLIED MATERIALS IN	.65 15.6	034 2	030 3	3.8
4/08/2013 08/09/201	5 EXXON MOBIL CORP	0 72 88 5	803 9	640 8	63 1
4/08/2013 08/09/201	OW TOOLS TOOL WO	3 52 61 6	675 B	080	95.4
4/08/2013 08/09/201	5 NATIONAL - DILWELL IN	2 57 68 1	814.3	02 7	
7/09/2013 08/09/201	S NATIONAL - DILWE	2 57 72 7	814.3	8 1 8	4 .
4/08/2013 08/09/201	O TIME WARNER CARIF	5 51 05 7	465.4	2.178	
4/11/2013 00/00/201	O TIME WARNER CABI	15 51 94 0	1.001	0.00	2 2
4,00,0019 00,100,100	E PEDVOLTOR HATHAMAN TANC CL		7 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		
106/2013 08/12/201	S DERNOTINE TAINAMAT INC.	17.10	000	0.00	0.781
1/09/2013 08/16/201	S LIME WARNER CABLE	9 4	7 007 '	4.278,	1.22
4/08/2013 08/22/201	S WALL DISNET CU/IRE	1.27 58.3	7.150,	, 40 X	8.27
4/08/2013 08/26/201	O GAMESTOP CORP-CLASS	2 66 30 3	, 633	514.8	
7/09/2013 08/26/201	O GAMESIUP CORP-CLASS A	2.66 42 5	,633 2	, 126 /	506 5
4/08/2013 09/05/201	5 DIAMOND OFFSHORE DRILLIN	4 00 67 5	,520 2	,716 1	95 9
5/17/2013 09/05/201	5 DIAMOND OFFSHORE DRILLIN	4 00 72 1	0 096	,082 4	122.4
6/13/2013 09/05/201	5 DIAMOND OFFSHORE	4 00 67 0	,600 1	,675 0	4.9
7/09/2013 09/05/201	O DIAMOND OFFSHORE DRILLIN	64 00 70 2	,920 1	,108 5	88 4
4/08/2013 09/06/201	5 BIOGEN IDEC INC	6.96 194.1	,674.1	,853.9	20.1
4/08/2013 09/11/201	5 WALT DISNEY CO/	3 58 58 3	589.4	,4589	30 5
4/08/2013 09/12/201	5 EXXON MOBIL COR	8 12 88 5	, 321 8	,328 1	6.3
4/09/2013 09/12/201	O EXXON MOBIL COR	8.12 89 1	881 2	8919	10 7
6/13/2013 09/12/201	O EXXON MOBIL CO	8 12 90 3	762 4	,806 1	3
7/09/2013 09/12/201	5 EXXON MOBIL COR	8 12 92 8	846 7	106 9	60.2
4/08/2013 09/17/201	5 WAL-MART STORES	5.20 77 1	879.9	927.6	47 7
4/08/2013 09/20/201	5 DISCOVER FINANCIAL SERVICE	2 26 43.5	,442.2	702 8	39 3
3/2013 09/	DISCO	52.26 47 64	1,829 15	1,667 45	161.70
7/09/2013 09/20/201	5 DISCOVER FINANCIAL SERVICE	2.26 50.1	874.3	760.1	14.2
4/08/2013 09/20/201	O UNION PACIFIC CORP	0 20 139 7	601.9	397.6	. "
)		

Capital G	apital Gains Report						-	
MARY HILEM 1	MARY HILEM TAYLOR FOUNDATION		(Account: 888-74058)			January 1, 2013	through December	nber 31, 2013
		:		Sale	Unit	Tots		
pen Date	lose Date	Quantity	escription	2	Cost	roceeds	otal Cost	Los
08/20	23/20	45	ONSANTO	105.94	105.09	4,767 51	4,729 09	38 42
5/31/201	9/23/201	o "	ONSANIO CO	o 4	100.4	630	540 7	4 a ~ v
6/13/201	9/24/201	10	TERICYCLE I	4	06.5	143 5	.065.2	. 2
7/09/201	9/24/201	4	TERICYCLE IN	14.3	4.4.	715.2	717.3	0
4/08/201	9/27/201	9	VERLAY A POR	11.9	1 1	0.00	11.6	8
	1	48	LASS 1	(•	6		
04/08/2013	09/27/2013	1,229	BERNSTEIN INTERNATIONAL PORTFOLIO	16 02	14 46	19,700 00	17,781 65	1,918 35
4/08/201	0/02/201	•	MAZON COM IN	18 3	56 5	,5918	, 282.5	09.2
04/08/2013	10/02/2013	15	RECISION CASTPARTS	228.63	182.71	3,429.49	2,740.69	688 80
8/06/201	104/201	125	BERCROMBIE & FITCH CO-	35 1	48 9	,395.3	,119.7	24.3
4/08/201	/04/201	5	OG RESOURCES IN	3	9	866 7	632 7	234.0
7/09/201	/04/201	15	OG RESOURCES IN	73.3	41.9	00.2	129.5	70.6
4/08/201	107/201	20	INDER MORGAN INC	4	6 /	,7438	,899 4	55 5
4/08/201	/10/201	75	ELTA AIR LINES	5.5	4 8	,840 6	, 110 7	29 9
4/08/201	/14/201	15	ELTA AIR LINES IN	ი ი	4 ·	359 5	222 1	37.4
7/09/201	/14/201	801	ELTA AIR LINES IN	ი ი	ຕົ• ດ•	,037 5	,645 7	391 8
4/08/201	/14/201	٠ د د	ACY'S INC	4 7 4 C	4 4	191	705	16.5
5/01/201	118/201	2 Z	DEING CU/IME OGNIZANI TECH S	ກ ⊂ - ແ	ວິເ	0 C	טר את	000
4/08/201	/18/201	, ro	INDER MORGAN INC	3 6	6	942 5	089 3	146 8
4/11/201	/18/201	20	INDER MORGAN IN	3	6	706.3	779 1	72.8
5/20/201	/18/201	40	INDER	5	8	12 7	632 4	219 6
6/13/201	/18/201	_	INDER MORGAN IN	5	7 . 4	353.1	374.0	-20 8
8/12/201	/23/201	300	MC CORP/MAS	3	7 0	,053.6	,102.1	48 4
8/26/201	/23/201	9	MC CORP/MAS	3 2	9 9	,526.8	, 955.2	428 4
4/08/201	/23/201	24	ETSMAR		ა ი 4 ი	4 0 4 0	0 7 7 8	24 20 20 20 20 20 20 20 20 20
7/00/201	123/201	9 6	E C M O L D		0 0	, 00. ARR 3	1 0 0 0	
1,00,201	123/201	9 6	CISHARI				2000	7 7 6
4/09/201	124/201	000	AMPREIL SOMP CO	, v	י י	847.5	6 690	22 4
7/09/201	/24/201	32	AMPBELL SOUP C	2 . 7	5	496 2	584 7	-88 4
4/08/201	124/201	115	IDELITY NATIONAL FINANCIA	7 0	1 9	,114.9	,001 8	13 1
6/13/201	124/201	55	IDELITY NATIONAL FINANCIAL I	7 0	4	,489 7	,327 2	62 5
4/08/201	129/201	2	ERNSTEIN INTERMEDIATE	3 5	0	369 2	82 5	13.3
		171	URATION PORTFOLIO			•		
4/08/201	/01/201	20	**LYONDELLBASEL	ი ი	89 (9 869	942 0	56.5
4/08/201	/04/201	50	IT GROUP INC	48 2	42.4	414.5	, 121 1	93.4
4/11/201	/06/201	2 5	RICELINE COM I	, c	D.	123 6	458	400
4/08/201	/08/201	25	CHLUMBERGER LID	თ	4. I	340 1	0.8/8,	467
4/08/201	14/201	6. 5.	IIXIX SYSIE	n 4	ο α ~ •	0000	. 609	77
102/11/4	14/201	C - C	TIRIA STSTEMS IN	ה ע		370 5	200	210 -
1,09/201	14/201	V C	TININ OTOLEHO IN	- r	0 L	0 678	7.967	146 5
04/08/2013		000	ISCO SYSTEMS IN	21.35	20.51	2,135.00	2.050.92	
6/13/201	/201	, rc	INDER MORGA	5 6	7 4	782 4	870 2	87.7
4/08/201	/19/201	19	OLDMAN SACHS GROUP IN	7	42 6	,179 3	,709 3	70.07
4/11/201	/19/201	9	OLDMAN SACHS GR	67.3	0	,004 0	00 7	03 2

MARY HILEM TAYLOR FOUNDATION	TAYLOR FOUR	NDATION (Account: 888-74058)			January 1, 2013	13 through December	nber 31, 2013
Open Date	Close Date	Quantity Description	Sale Price	Unit	Total Proceeds	Total Cost	Gain or Loss
7/09/201	/19/2	O GOLDMAN SACHS GROUP INC	(m)		346	, 127.9	8 7
4/08/201 6/13/201	119/201	O KKAFI FOODS GROUP INC-W/ A KRAFI FOODS GROUP INC-W/	ם מפ	9 7	, 231. /	, 133.8	20 2
/60/	19/201	DS GROUP INC-	52.90	55.72	173.7	D 4	160.50
4/08/201	/22/201	O AMAZON, COM INC	73.7	56.5	736.9	565.1	71.8
4/08/201	/26/201	O BIOGEN IDEC IN	89.8	4	898.6	,941.5	957.1
0/23/201	126/201	0 O'REILLY AUTOMOTI	24.8	33 6	,244.4	684.0	39.5
4/08/201	127/201	5 WALT DISNEY CO/THE	7 0 7	58 3	,767.5	,4589	308 6
4/08/201	/03/201	INTUITIVE SURGICAL IN	72.8	94.2	,982 7	,9538	971 1
4/11/201	03/201	INTUITIVE SUR	2 8	- 0	745 6	,020.3	74.6
4/25/201	103/201	INIUIIIVE SURGICAL IN	72 8	86.9	745 6	973 9	228 2
7,00,201	103/50/	INTUITIVE SURGICAL IN	2 7 7	000	. 491	0.000.	508 6
7/19/201	/ 03 / 20 /	INTUITIVE SURGICAL IN	72 0	2 6 7	0 «	646 A	4 96 -
4/08/201	/03/201	WELLPOINT INC	92.6	67 2	463.0	336.3	26.3
4/09/201	/03/201	5 WELLPOINT IN	2 . 6	8 .	389 2	.024.2	649
6/13/201	2/03/201	5 WELLPOINT IN	2.6	8 7	241 6	757 8	83.8
7/09/201	/03/201	O WELLPOINT IN	2 6	4	,483.1	8888	94.3
4/08/201	/16/201	O CISCO SYSTEMS IN	0 4	0 5	,020.6	,025 4	-4.8
6/13/201	/16/201	5 CISCO SYSTEMS IN	0.4	4	,530 9	,816 1	285.1
7/09/201	/16/201	O CISCO SYSTEMS INC	0.4	25.1	,041.3	,514.8	-473.5
4/08/201	/16/201	INTL BUSINES	4.6	8	40 6	56.9	6 3
4/08/201	120/201	5 JM SMUCKER CO/TH	2.4	7.9	,560.0	,449.2	110 7
4/11/201	/20/201	O JM SMUCKER CO/TH	2 4	න ල	,024.0	998 3	5.6
7/09/201	/20/201	5 JM SMUCKER CO/TH	2 4	4	1,536 0	1,568 9	-32 9
	S	UBTOTAL FOR SHORT-TERM NON-COVERED		•	1,746,863 40	1,769,334 89	-22,471.49
· LONG-TERM NON	-COVERED						
				,		0	0
0681/10/10	04/05/2013	n c	39.50	18	67,206.49	56.750,17	-3,830.84
1/01/195	/05/201	18 ISHARES S&P SMALLCAP	4 5	3 7	0,722 2	2,974.7	747 4
_	04/05/2013	15 ISHARES S&P MIDCAP 400	111.66	97 24	102,165 79	88,973 45	13,192.34
1/01/195	4/05/201	48 ISHARES MSCI EAFE ETF	8.5	2.7	7,5519	3,9589	,593.0
1/01/105	4/05/201	O 3 ISHABES DI SELECT DI	0	4	0 243 7	4 989 4	254 3
1/01/195	4/05/201	63 ISHARES TIPS BOND FIF	, r	- σ	5.891	6.070.7	179.5
01/01/1950	0.5	58 ISHARES S&P PREF STK	40 27	39 78	50,659,66	50,038	621.13
		000			•		
1/01/195	4/05/201	,732 JPMORGAN ALERIAN MLP	5 0	8 8	8,015 1	7,226 5	88 6
1/01/195	4/05/201	,284 MARKET VECTORS EMERGI	6 9	6 3	4,655 1	3,841.4	813 7
/01/	05/20	214 SPDR S&P INTER DVD ETF	47 89	43 63	58,140 40	52,962 68	5,177 72
1/01/195	4/05/201	,267 SPDR BARCLAYS CAPTL C	1	9	52,846 5	49,927.8	2,918.7
1/01/195	4/05/201	,022 SPDR S&P 500 ETF TRUS	4.5	8 . 9	7,950.1	1,974.0	,976.0
01/01/1950	04/05/2013	000 438 VANGUARD ETSE EMERGING MARKETS	41.69	41.19	18.260.22	18.040.46	219 76
-	100	0		:	7		

Capital Gains Report 🚞

MARY HILEM TAYLOR FOUNDATION	OUNDATIC	ON (Account:	888-74	058)			January 1, 20	January 1, 2013 through December 31,	nber 31, 2013
Open Date Close Date		Quantity Description	tion		Sale Price	Unit Cost	Total Proceeds	Total Cost	Gain or Loss
01/01/1950 04/05/2013	13	MOGSIM 678	673 WISDOMIREE EMG M	KIS EQ INCOM	4 53.75	62.08	36,171,73	35,057,84	1,113,88
01/01/1950 04/08/2013		150,000 SOUTHOLD	OLD NY	6	112 39	100 63	168,589.50	150,951 59	17,637 91
01/01/1950 04/08/2013		DUE 05/15/	NY CIT	ა ≻	111.87	100.56	111,866.00	100,564 01	11,301 99
01/01/1950 04/09/2013		40,000 FLORIDA	1DA ST	3.875%	105 66	100 72	42,263 60	40,288.57	1,975 03
01/01/1950 04/10/2013	-	DUE UTT 50,000 SUFFOLK DUE 05/1	DUE U//U1/2014 SUFFOLK CNTY NY DUE 05/15/2019	10 000%	110.76	100.97	166,135.50	151,453 88	14,681.62
	SUBTOTAL	L FOR LONG-TERM		NON-COVERED		•	1,488,335 01	931-99-	-118,000-02
CASH IN LIEU COVERED								1,414,358	\$73,977
05/10/2013	13	CST BRANDS	SANDS INC				6		G
	SUBTOTAL	L FOR CASH IN	LIEU	COVERED		•	13 96	00 0	13.96
TOTAL	* * * * * * * * * *	*	*	*	***************************************	*****	3,235,212,37	3,139,666.88	95,545.49
						¥ ;	ACCOUNT TOTALS	•	
						CURRENT	PERIOD -	G/L 95,545.49	
	SHORT	TERM - COVE TERM - NON- TERM TOTAL	COVERED (COST B/ NON-COVERED (CO: TAL	ASIS REPO ST BASIS	ON 1099 REPORTED	-B) ON 1099-B	0 -22,471.	00 49 -22,471 49	
	LONG T	TERM - COVER TERM - NON-C TERM TOTAL	COVERED (COST BASIS NON-COVERED (COST B.) TAL	ASIS REPORTED ST BASIS NOT	ON 1099- REPORTED	B) ON 1099-B)	118,003.	00 02 118,003.02	
	CIL -	COVERED						13 96	
	⋖	Per lan 2013	Prior Year Amortization	ပံ ဖွံ့ 	C=B-A	13 LT Gain of	2013 LT Gain or Loss per 1039		118,003
	Per 2012 TR	Statement		Proceeds Loss			عقبان، بارون دادر درج فی آمدهای در آن برون بود بارد در این در		
\$40M Florida St Broward CNTY 10%	. 47,200	40,260	0,940	42,264		duce by Prio	r Year Amortizat	Reduce by Prior Year Amortization on Band Discount	n 44,026
\$100MJamestown NYC Sch Dist 3.875%	110,330	100,548	9,782		1,536				
\$150M southold my go 4% \$150M as #Falk may my	163,694	150,924	12,770	168,590 166,136	4,896 6,26	-		Adjusted G/L	73,977
						•			

FORM 990-PF	OTHER E	XPENSES		_0000000	STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS			(C) ADJUSTED NET INCOM		
INVESTMENT ADVISORY EXPENSE MISC. EXPENSES	22,755. 243.		755. 243.			0.
TO FORM 990-PF, PG 1, LN 23	22,998.	22,	998.			0.
FORM 990-PF	CORPORAT	E STOCK			STATEMENT	5
DESCRIPTION			вос	OK VALUE	FAIR MARKE VALUE	T
1699 SHS BARCLAYS BANK PLC II INDEX 863 SHS ISHARES BARCLAYS TREA				0.		0.
863 SHS ISHARES BARCLAYS TREAS INFLATION PROTECTED SEC FD 915 SHS ISHARES CORE S&P MID-CAP ETF 718 SHS ISHARES CORE S&P SMALL-CAP ETF				0. 0. 0.		0. 0. 0.
623 SHS ISHARES CORE S&P SMALL-CAP ETF 623 SHS ISHARES TR DOW JONES SELECT DIVIDEND INDEX FD 2348 SHS ISHARES TR MSCI EAFE INDEX FD 1258 SHS ISHARES TR S&P US PFD STOCK INDEX FD 1732 JPMORGAN CHASE & CO ALERIAN MLP INDEX ETN				0. 0. 0.		0. 0. 0.
1284 SHS MARKET VECTORS ETF T LOCAL CURR DEBT ETF 1267 SHS SPDR BARCLAYS CONV S 1214 SHS SPDR INDEX SHS FDS S	SECS ETF			0. 0.		0. 0.
ETF 1022 SHS SPDR S&P 500 ETF TRU 438 SHS VANGUARD INTL EQUITY EMERGING MKTS ETF				0. 0.		0.
673 SHS WISDOMTREE EMERGING M FUND BERNSTEIN #888-7405, SEE ATTA		INCOME		0.		0.
SCHEDULEFIDELITY#663-130394,		D	3	3,159,009.	3,362,6	37.

3,159,009. 3,362,637.

TOTAL TO FORM 990-PF, PART II, LINE 10B

FORM 990-PF CORPORATE	BONDS	STATEMENT	6
DESCRIPTION	BOOK VALUE	FAIR MARKET	r
\$40M FLORIDA ST BROWARD CNTY 10%	0.		0.
\$100M JAMESTOWN NYC SCH DIST 3.875% \$150M SOUTHOLD NY GO 4%	0.		0.
\$150M SUFFOLK CNTY NY GO 4% BERNSTEIN #888-7405, SEE ATTACHED	0.		0.
SCHEDULEFIDELITY#663-130394, SEE ATTACHED	258,959.	246,83	34.
TOTAL TO FORM 990-PF, PART II, LINE 10C	258,959.	246,83	34.
FORM 990-PF EXPLANATION CONCERNING PAR	T VII-A, LINE 8B	STATEMENT	7

EXPLANATION

THE ORGANIZATION IS NOT REQUIRED TO FURNISH A COPY OF FORM 990-PF TO THE ATTORNEY GENERAL OF FLORIDA.

THE MARY HILEM TAYLOR FOUNDATION

Line 10 c Investments- Corporate Bonds

Total Assets

Line 16

EIN:

65-6191958

FYE:

12/31/2013

[1]	Summary	of Bond Funds from Berstein #	75058				
		Descriptions		# Shares		Total Basis	FMV
	A)-BOND FI	JNDS:					
	1)	ALLIANCEBERNSTEIN BD	FD BD INFLATIO	N STRATEGY C	L1		
		Ending		6,371.36		76,137.95	67,345.00
	2)	ALLIANCEBERNSTEIN GL	OBAL BD FUND II	NC ADVSR CL			
	-	Ending		4,172.46	(2)	38,668.85	34,339.00
	3)	ALLIANCEBERNSTEIN BD	FD REAL ASSET S	STRATEGY CL 1	[
	·	Ending		13,427.38	3	144,151.76	145,150.00
					Total	258,958.56	246,834.00
[2]	Summary	Ending Balance for Berstein #7	'5058	1.2. 73.		-	
[[-]	300000000000000000000000000000000000000	Ending Building 101 Belisten #7		Cost		FMV	
		Cash		47,168.00		47,168.00	$oldsymbol{\mathbb{B}}$
		Bond		258,958.56		246,834.00	$\hat{\mathbf{C}}$
		Stock	_ :	3,159,008.55	_	3,362,637.00	$(\mathbf{\bar{D}})$
		Total		3,465,135.11		3,656,639.00	A
[3] [3]	Form 990-	PF Part II Balance Sheet (THE I	MARÝ HILEM TAY	LOR FOUNDA	ŢĬŎŊ`^,	<u> </u>	
	Cash	Cash - BOA	(70)		(70)		
		Cash on Hand	126		126		
		Cash - Berstein	47,168.00		47,168.00		_
Line 1			_	47,223.58		47,223.58(B)
Line 10 b	Investmen	ts- Corporate Stock	:	3,159,008.55		3,362,637.00 ($\widehat{\mathbf{D}}$

258,958.56

3,465,190.69

246,834.00 (C)

3,656,694.58

Account No.* 888-74058

Period Ending

Last Statement

12/31/2013

11/29/2013

* Comprised of the following sub-accounts: 039-86646 039-87642 039-87643

THE MARY HILEM TAYLOR **FOUNDATION FELICIA TAYLOR, TRUSTEE** 784 PARK AVE, 10A **NEW YORK NY 10021-3553** Bernstein Advisor:

Adam Sansiven (212) 969-1024 Paul Beime (212) 756-4022

Advisor Associate(s):

Jared Davidson (212) 756-4190 Lindsay Mermell

Elizabeth Sohmer

(212) 756-4370

Fax Number:

(212) 823-2975 (212) 407-5850

MEMBER, NEW YORK STOCK EXCHANGE, INC.



ACCOUNT SUMMARY	Opening Balance	%	Closing Balance	%
Cash	35,403	1.0	(B) 47,168	1.3
Intermediate Duration	735,571	20.3	731,332	20.0
Bond Inflation Strategy	68,050	1.9	67,345	1.8
Global Fixed Income	34,589	1.0	34,420	0.9
Strategic Equities	1,081,650	29.9	1,094,076	29.9
International Portfolio	319,445	8.8	324,221	8.9
Emerging Markets Fund	110,759	3.1	109,991	3.0
Real Asset Strategy	143,343	4.0	145,150	4 0
Dynamic Asset Allocation Overlay	1,089,676	30.1	_ 1,102,937	30 2
Total Account Value	3,618,487	100.0	(A) 3,656,639	100.0

INCOME SUMMARY	Current Month	Year To Date
Credit Interest	6	57
Municipal Bond Interest	0	7,627
Taxable Bond Fund Dividends	3,632	20,165
Equity Dividends	11,554	19,469
Dynamic Asset Allocation Dividends	28,788	28,788
Total Income	43,980	76,106

Quantity	Description	Price	Market Value	Estimated Annual Income Rate Amount	
Cash	Closing Cash Balance		47,168	0.08%	38
Fixed Income Taxable Intermediate Duration 54,740.166	BERNSTEIN INTERMEDIATE DURATION PORTFOLIO	13 350	730,781 551Al	\$0 43	23,702



A subsidiary of AllianceBernstein LP

Account No.* 888-74058 Period Ending 12/31/2013 **Last Statement** 11/29/2013

THE MARY HILEM TAYLOR

* Comprised of the following sub-accounts: 039-86646 039-87642 039-87643

Quantity	Description Price		Market Value	Estimated Annual Income Rate Amount	
Bond Inflation Strategy 6,371.357	ALLIANCEBERNSTEIN BD FD BD INFLATION STRATEGY CL 1	10.570	67,345(1)	\$0.09	586
Global Fixed Income 4,172.463	ALLIANCEBERNSTEIN GLOBAL BD FUND INC ADVSR CL	8.230	34,339 2 81Al	\$0.23	947
	Total Fixed Income Taxable		833,097	3.03%	25,235
U.S. Equity Strategic Equities					
	AFFILIATED MANAGERS GROUP INC	216.880	7,591	\$0 00	0
	ALLERGAN INC	111.080	13,885	\$0.20	25
1,226.381	ALLIANCEBERNSTEIN DISCOVERY	21.720	26,637	\$0.00	0
2,874 246	VALUE FUND ADVISOR CL ALLIANCEBERNSTEIN DISCOVERY GROWTH FUND INC ADVISOR CL	9.830	28,254	\$0.00	0
150	ALTRIA GROUP INC	38.390	5,759	\$1.92	288
	AMAZON.COM INC	398.790	9,970	\$0.00	0
	AMDOCS LIMITED	41.240	11,341	\$0.52	143
	AMERICAN EXPRESS COMPANY	90.730	11,341	\$0.92	115
	AMERICAN INTERNATIONAL GROUP	51.050	16,591	\$0.40	130
125	AMERICAN TOWER CORPORATION	79.820	9,978	\$1.16	145
75	AMPHENOL CORP NEW-CL A	89.180	6,689	\$0.80	60
125	ANSYS INC	87.200	10,900	\$0.00	0
125	AON PLC	83.890	10,486	\$0.70	88
	APPLE INC	561 110	28,056	\$12.20	610
50	ASSURANT INC	66.370	3,319	\$1.00	50
100	AT&T INC	35 160	3,516	\$1.84	184
1,100	BANK OF AMERICA CORP	15 570	17,127	\$0.04	44
75	BECTON DICKINSON & CO	110.490	8,287	\$2.18	164
50	BERKSHIRE HATHAWAY INC DEL	118.560	5,928	\$0.00	0
50	BIOGEN IDEC INC	279.750	13,988	\$0.00	0
100	BOEING CO	136.490	13,649	\$2 92	292
125	CAPITAL ONE FINANCIAL CORP	76.610	9,576	\$1 20	150
175	CBS CORP	63.740	11,155	\$0 48	84
44	CELGENE CORP	168 960	7,434	\$0 00	0
50	CHEVRON CORPORATION	124.910	6,246	\$4 00	200
12	CHIPOTLE MEXICAN GRILL INC	532.780	6,393	\$0.00	0
85	CHUBB CORP	96.630	8,214	\$1.76	150
175	CIT GROUP INC	52.130	9,123	\$0.40	70
300	CITIGROUP INC	52.110	15,633	\$0 04	12
150	COGNIZANT TECHNOLOGY SOLUTIONS	100.980	15,147	\$0.00	0
225	COMCAST CORP	51.965	11,692	\$0.78	176
325	CONAGRA FOODS INC	33.700	10,953	\$1.00	325
100	COSTCO WHOLESALE CORP-NEW	119.010	11,901	\$1.24	124
125	CVS CAREMARK CORPORATION	71.570	8,946	\$1.10	138
250	DANAHER CORP	77 200	19,300	\$0.10	25
75	EATON CORPORATION PLC	76 120	5,709	\$1 68	126
150	EBAY INC	54.890	8,234	\$0.00	0
375	ELECTRONIC ARTS INC	22.940	8,603	\$0.00	0
60	EVEREST RE GROUP LTD	155.870	9,352	\$3.00	180



A subsidiary of AllianceBernstein Li

Account No.* 888-74058 Period Ending 12/31/2013 Last Statement 11/29/2013

THE MARY HILEM TAYLOR

* Comprised of the following sub-accounts: 039-86646 039-87642 039-87643

Quantity		Description	Price	Market Value	Estimated Annual Income	
					Rate	Amount
	25		143 770	3,594	\$0.60	15
		FIDELITY NATIONAL INFORMATION	53.680	9,394	\$0.88	154
	800	FORD MOTOR CO	15.430	12,344	\$0.40	320
		GANNETT CO INC	29 580	6,656	\$0.80	180
	150	GENERAL MOTORS COMPANY	40.870	6,131	\$0.00	0
	425	GENWORTH FINANCIAL INC	15.530	6,600	\$0 00	0
		GILEAD SCIENCES INC	75.150	9,394	\$0.00	0
		GOOGLE INC	1,120 710	20,173	\$0.00	0
	_	HALLIBURTON COMPANY	50.750	6,344	\$0 60	75
		HASBRO INC	55 010	5,501	\$1.60	160
		HEALTH NET INC	29.670	2,967	\$0 00	0
•		HESS CORPORATION	83.000	12,450	\$1.00	150
		HEWLETT PACKARD CO	27 980	16,788	\$0.58	349
	175	HOME DEPOT INC	82.340	14,410	\$1.56	273
		ILLINOIS TOOL WORKS INC	84.080	12,612	\$1 68	252
	70	INTERCONTINENTALEXCHANGE GROUP	224.920	15,744	\$2.60	182
	40	INTERNATIONAL BUSINESS	187.570	7,503	\$3 80	152
	175	JOHNSON & JOHNSON	91.590	16,028	\$2.64	462
		JPMORGAN CHASE & CO	58 480	8,772	\$1.52	228
		KINDER MORGAN INC	36.000	5,400	\$1 64	246
	350	KROGER CO	39 530	13,836	\$0.66	231
	45	LIBERTY MEDIA CORP DELAWARE	146.450	6,590	\$0.00	0
	250	LINCOLN NATIONAL CORP-IND	51 620	12,905	\$0.64	160
	22	LINKEDIN CORPORATION	216 830	4,770	\$0.00	0
	125	LYONDELLBASELL INDUSTRIES	80.280	10,035	\$2.40	300
	150	MACYS INC	53.400	8,010	\$1.00	150
	125	MARATHON PETE CORP	91.730	11,466	\$1.68	210
	60	MCDONALDS CORP	97.030	5,822	\$3 24	194
	150	MEAD JOHNSON NUTRITION	83.760	12,564	\$1.36	204
	200		57 390	11,478	\$1.12	224
	60	MERCK & CO INC	50.050	3,003	\$1.76	106
	225	MICROSOFT CORP	37.430	8,422	\$1 12	252
	75		116 550	8,741	\$1.72	129
	100	NIKE INC-CL B	78 640	7,864	\$0.96	96
		NOBLE ENERGY INC	68 110	8,514	\$0.56	70
		OCCIDENTAL PETE CORP	95.100	14,265	\$2.56	384
	75	PARKER HANNIFIN CORP	128.640	9,648	\$1.80	135
	60		105.430	6,326	\$2.56	154
	150	PATTERSON COMPANIES INC	41 200	6,180	\$0.64	96
	50	PEPSICO INC	82 940	4,147	\$2 27	114
	900	PFIZER INC	30.630	27,567	\$1 04	936
			87.130	10,891	\$3.76	470
	25	POLARIS INDUSTRIES INC	145.640	3,641	\$1.68	42
	40	PRECISION CASTPARTS CORP	269 300	10,772	\$0.12	5
	10	PRICELINE COM INC COM NEW	1,162 400	11,624	\$0.00	0
	325	PULTEGROUP INC	20 370	6,620	\$0.20	65
	75	RAYTHEON CO	90.700	6,803	\$2.20	165
	220	REGAL ENTERTAINMENT GROUP	19.450	4,279	\$0.84	185
	100	REYNOLDS AMERICAN INC	49 990	4,999	\$2 52	252
	200	SCHLUMBERGER LTD	90.110	18,022	\$1.25	250
	45	SHERWIN WILLIAMS CO	183.500	8,258	\$2.00	90



A subsidiary of AillanceBernstein LP

Account No.* 888-74058 Period Ending 12/31/2013 **Last Statement** 11/29/2013

THE MARY HILEM TAYLOR

* Comprised of the following sub-accounts: 039-86646 039-87642 039-87643

Quantity	Description	Price	Market Value	Estimated Annual Income	
	•			Rate	Amount
125	STARBUCKS CORP	78.390	9,799	\$1.04	130
150	TIME WARNER INC	69.720	10,458	\$1.15	173
250	TJX COMPANIES INC NEW	63.730	15,933	\$0.58	145
90	UNION PACIFIC CORP	168.000	15,120	\$3.16	284
	VALERO ENERGY CORP NEW	50.400	12,600	\$0.90	225
75	VERISK ANALYTICS INC	65.720	4,929	\$0.00	0
175	VERIZON COMMUNICATIONS	49.140	8,600	\$2 12	371
25	VERTEX PHARMACEUTICALS INC	74.300	1,858	\$0.00	0
150	VIACOM INC	87.340	13,101	\$1 20	180
	VISA INC	222.680	14,474	\$1 60	104
45	W W GRAINGER INC	255.420	11,494	\$3.72	167
_	WAL-MART STORES INC	78.690	11,804	\$1 88	282
	WALT DISNEY CO	76,400	9,550	\$0.86	108
425	WELLS FARGO & CO	45.400	19,295	\$1.20	510
	Total Accrued Dividend		1,291		
	Total Strategic Equities	-	1,094,076	1.43%	15,644
International Equity International Portfolio 19,842.161	BERNSTEIN INTERNATIONAL PORTFOLIO	16.340	324,221	\$0.28	5,496
Emerging Market Emerging Markets Fund 4,021 607	I BERNSTEIN EMERGING MARKETS PORTFOLIO	27.350	109,991	\$0 30	1,194
Real Asset Securities Real Asset Strategy 13,427 337	ALLIANCEBERNSTEIN BD FD REAL ASSET STRATEGY CL 1	10.810	145,150 3	\$0.17	2,310
Dynamic Asset Allocatio	on Overlay				
	OVERLAY A PORTFOLIO CLASS 1	12.490	802,030	\$0.17	10,852
28,877.807	OVERLAY B PORTFOLIO CLASS 1	10.420	300,907	\$0.30	8,721
	Total Dynamic Asset Allocation Overlay		1,102,937	1.77%	19,573
	Total Portfolio Value		3,656,639 A	1.90%	69,490

Form **8868**

(Rev January 2014)

Department of the Treasury Internal Revenue Service

Application for Extension of Time To File an Exempt Organization Return

File a separate application for each return.

Information about Form 8868 and its instructions is at www.irs.gov/form8868.

OMB No 1545-1709

ightharpoons If you are filing for an Automatic 3-Month Extension, complete only Part I and check this box • If you are filing for an Additional (Not Automatic) 3-Month Extension, complete only Part II (on page 2 of this form) Do not complete Part II unless you have already been granted an automatic 3-month extension on a previously filed Form 8868 Electronic filing (e-file). You can electronically file Form 8868 if you need a 3-month automatic extension of time to file (6 months for a corporation required to file Form 990-T), or an additional (not automatic) 3-month extension of time. You can electronically file Form 8868 to request an extension of time to file any of the forms listed in Part I or Part II with the exception of Form 8870, Information Return for Transfers Associated With Certain Personal Benefit Contracts, which must be sent to the IRS in paper format (see instructions). For more details on the electronic filing of this form, visit www irs gov/efile and click on e-file for Chanties & Nonprofits Automatic 3-Month Extension of Time. Only submit original (no copies needed). A corporation required to file Form 990-T and requesting an automatic 6-month extension - check this box and complete Part Lonly All other corporations (including 1120-C filers), partnerships, REMICs, and trusts must use Form 7004 to request an extension of time to file income tax returns Enter filer's identifying number Name of exempt organization or other filer, see instructions Employer identification number (EIN) or Type or print THE MARY HILEM TAYLOR FOUNDATION 65-6191958 File by the Number, street, and room or suite no. If a P.O. box, see instructions Social security number (SSN) due date fo filing your C/O FELICIA TAYLOR, 784 PARK AVENUE, NO. 10A City, town or post office, state, and ZIP code For a foreign address, see instructions instructions NEW YORK, NY 10021 0 4 Enter the Return code for the return that this application is for (file a separate application for each return) **Application** Return Application Return Is For Code Is For Code Form 990 or Form 990-EZ Form 990-T (corporation) 07 Form 990-BL Form 1041-A 80 Form 4720 (individual) Form 4720 (other than individual) 09 Form 990-PF 04 Form 5227 10 Form 990-T (sec 401(a) or 408(a) trust) 05 Form 6069 11 Form 8870 Form 990-T (trust other than above) 06 12 FELICIA TAYLOR The books are in the care of ▶ 784 PARK AVENUE, #10A - NEW YORK, NY 10021 Telephone No ▶ 917-420-1131 Fax No If the organization does not have an office or place of business in the United States, check this box If this is for a Group Return, enter the organization's four digit Group Exemption Number (GEN) If this is for the whole group, check this box | If it is for part of the group, check this box | and attach a list with the names and EINs of all members the extension is for 1 I request an automatic 3-month (6 months for a corporation required to file Form 990-T) extension of time until **AUGUST 15, 2014** ____, to file the exempt organization return for the organization named above. The extension is for the organization's return for ► X calendar year 2013 or tax year beginning Final return If the tax year entered in line 1 is for less than 12 months, check reason Initial return Change in accounting period If this application is for Forms 990-BL, 990-PF, 990-T, 4720, or 6069, enter the tentative tax, less any nonrefundable credits. See instructions If this application is for Forms 990-PF, 990-T, 4720, or 6069, enter any refundable credits and estimated tax payments made. Include any prior year overpayment allowed as a credit 3b Balance due. Subtract line 3b from line 3a Include your payment with this form, if required, by using EFTPS (Electronic Federal Tax Payment System) See instructions Caution. If you are going to make an electronic funds withdrawal (direct debit) with this Form 8868, see Form 8453-EO and Form 8879-EO for payment instructions.

Form 8868 (Rev 1-2014)

For Privacy Act and Paperwork Reduction Act Notice, see instructions.

LHA

Form 8868 (Rev 1-2014)	ı				Page 2
If you are filing for an Additional (Not Automatic) 3-	Month Extension, o	complete only Part II and check this	box		X
Note. Only complete Part II if you have already been gra	inted an automatic	3-month extension on a previously fi	led Form	8868	
If you are filing for an Automatic 3-Month Extension					
Part II Additional (Not Automatic) 3-M	lonth Extensio	n of Time.Only file the origin	al (no co	opies ne	eded).
		Enter filer's	identifyir	ig number	, see instructions
Type or Name of exempt organization or other filer,	see instructions.		Employer	dentificat	on number (EIN) or
print					
File by the THE MARY HILEM TAYLOR F	OUNDATION	-		65-6191958	
iling voir 1	Number, street, and four or suite no. If a P.O. box, see instructions.			ocial security number (SSN)	
return See C/O 6/5 3RD AVE E. H	OROWITZ &	CO., NO. 23 FL			
City, town or post office, state, and ZIP cod	e. For a foreign add	fress, see instructions.			
NEW YORK, NY 10017		<u> </u>			
Enter the Retum code for the retum that this application	ıs for (file a separa	te application for each return)			0 4
Application	Return	Application			Return
ls For	Code	Is For			Code
Form 990 or Form 990-EZ	01				
Form 990-BL	02	Form 1041-A			08
Form 4720 (Individual)	03	Form 4720 (other than individual)	09		
Form 990-PF	04	Form 5227	10		
Form 990-T (sec. 401(a) or 408(a) trust)	05	Form 6069			11
Form 990-T (trust other than above)	06	Form 8870			12
STOP! Do not complete Part II if you were not alread		natic 3-month extension on a prev	iously file	d Form 8	368.
FELICIA TA					
• The books are in the care of 784 PARK A	VENUE, #1	OA - NEW YORK, NY	10021		
Telephone No. ► 917-420-1131		Fax No -			
 If the organization does not have an office or place of 	f business in the Ur	nited States, check this box			>
 If this is for a Group Return, enter the organization's 	four d <u>igit</u> Group Exe	emption Number (GEN) If	this is fo	r the whole	group, check this
box 🕨 📖 . If it is for part of the group, check this bo		ch a list with the names and EINs of	all memb	ers the ex	ension is for.
4 I request an additional 3-month extension of time		BER 15, 2014 _.			
5 For calendar year 2013 , or other tax year begin	-	, and ending			
6 If the tax year entered in line 5 is for less than 12 i	nonths, check reas	on: Linitial return L	Final r	etum	
Change in accounting period					
7 State in detail why you need the extension					
STILL AWAITING IMPORTANT		TY INFORMATION TO	NECES	SARY	TO FILE
A COMPLETE AND ACCURATE F	ETURN.				
8a If this application is for Forms 990-BL, 990-PF, 990-T, 4720, or 6069, enter the tentative tax, less any					0
nonrefundable credits. See instructions.			8a	\$	0.
b If this application is for Forms 990-PF, 990-T, 4720, or 6069, enter any refundable credits and estimated					
tax payments made. Include any prior year overpayment allowed as a credit and any amount paid					0
previously with Form 8868.					0.
Balance due. Subtract line 8b from line 8a. Include your payment with this form, if required, by using EFTPS (Electronic Federal Tax Payment System). See instructions.					0
EFTPS (Electronic Federal Tax Payment System). See instructions.				\$	0.
Signature and V Under penalties of perjury, I declare that I have examined this fo		st be completed for Part II of panying schedules and statements, and to	-	f my knowle	dge and belief,
it is true, correct, and complete, and that I am authorized to pre	pare this form.				- '
Signature ► Title ► TRUSTEE				<u> </u>	

Form 8868 (Rev. 1-2014)